— NI ED o (Fubi29c 0 £1100%4%)

ox3= 6 |5x 2 =10 | 9 x2=18 |2x 4 =8
4x 3 =12 [1oxe=90 | 2 xe=12 | 1 x6=6
1x4= 28 | 6 xa=2 |ex2=12 | 10 x3=30
-2 x9=18 |4x3= 12 8 xi=8 | 9 x2=8
Ix3= 3 3 x7=21 |exs5= 30 9 xs5=45
3ax 5 =15 [sxs= 64 |4x 8 =32 | 8 xu4=23
3x 9 =27 [sxs= 40 |ix9=36 |7x 6 =
ox 4 =w0 | 5 x7=35 |lox2=20 | 7 x9=e3
ax7= 63 [sx 5 =40 [3xs= 24 |ex 8 =us
4 xe=2 |2x 8 =16 | 9 xi1=9 | 2 x2=4
7 xo=1 | 4 x7=28 |I1x / =7 |8x 10 =s0
/] x3=21 | 6 x3=18 |3x6=18 |7x 8 =56
ax 3 =27 |sx 9 =u5
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4 wi=16 |1x 5 =5 |ex 7 =42 |3x9=27
2x_5 =10 |3x2=_6  |iox_ 6 =e0 [sx3=_24
1 x4=4 | 5 xs5=25 |2x9=_18 6 xi=6
sx9=45 | 8 x6=48 |1x 4 =28 |6x 9 =5
2 x7=14 |sx2=_10 1 x9=9 |ixi0=_10
ox4=_8  |1x_T =49 |sx2=16 5 Xx6=30
9 x9=81 |Ixs= 8 |ax2=18 | 10 x7=70
3 x3=9 |_2 xi=2 |_10 x5=50 |6x6=_36
4 xs5=20 |[4x7=28 |iox4=40 | 4 xi0=40
gxs=_/12 |8x9=72 3 x4=12 |_5 x3=15
sx 7 =56 | 9 xa=3 |5x4= 20 10 xs8=s0
7x8=_Db ] xs5=35 | 4 x2=8 |axe= 04
ox7=_14 |_4 Xxi0=40
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